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Using the Laws of Universal
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. If a projectile 1s shot v enoush and
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How Objects Get Into Orbit
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. An object shot horizontally 1s a projectile — it will

fall to the Earth in a parabolic path.

. The faster a projectile 1s shot horizontally, the

father 1t will get horizontally.

g enough (+o ceduce aiv (esistance) ’

1t will  Soll Sowede B at the same rate
that the Eaxms owface  curves away

— Meaning the object would ‘w odbit
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http:// www.physicsclassroom.com/mm
edia/vectors/sat.cfm
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o M\ = Mass of Center body
{ Y = orbital radivs .
‘
v \ = Speed (w meWSISecmo\)
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' Period of a Satellite Orbiting the Earth
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- G =L LTI
M = mass of Conder body

) C = ovbital radivs .
r (ander o tonber distonct)
T = Period (in StCoHG(S)
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Launching a Satellite

. L
. Satellites are launched by  oclkels that g
have  acceleated themtoa =..» .
e g that will allow them  ”’

to oClnieve ovbit

. Since F =ma, amore wncsyve satellite
would require more U, to accelerate 1it.

. Therefore, the mass of a satellite 1s limited by the
rocket that will be used to launch it.

. http://www.voutube.com/watch?v=mbeoS0o0 fNw
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' Uses of a Satellite
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. Provides images of Earth's surface that are used
to:

g
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. Create maps -\
r . Study land use r
" | . Monitor resources 5

. Monitor global changes




EX:

. Engineers are planning to place the International

Space Station (ISS) 1nto orbit at an altitude of 450
km above the Earth's surface. What would be the

orbital speed and period of the ISS?
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= 1.3 X|D"m + 45p,000mM

Y = ,.83x/0"™M
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